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S.S.C–Mathematics. (Guess Paper)

Paper – II       

Time: ½ Hr.



       Part-B



Marks: 15

Name of the Student ………………………………………………….. Roll No………


NOTE:-
a) Each question carries ½ marks.



 b) Answers are to be written in the question paper only.



 c) All questions are to be answered.

 d) Marks will not be given for over written, re-written or erased answers.

      I)     Write the CAPITAL LETTERS showing the answer in the brackets provided against each question.
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 If AD=3cms, CD=6cms then BD=……
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2. In an isosceles triangle ABC, AB=AC, and 
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 then 
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A)  2CD.AC
      B) 2CD.AD
  C) 2AB.BC

D) 
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3. A line 
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 intersects the co-ordinate axes at A and B respectively.

 Then the mid-point of AB is …..
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4. 
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are perpendicular lines then ….

(
)

A) 
[image: image18.wmf]1212

0

aabb

+=





  B) 
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  D) 
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5. The A.M of first ‘n’ odd natural numbers is …..




(
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A) 
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       B) 2n+1

 C) n


  D) 2n-1


6. A and B are two matrices of orders 1x2 and 2x1 respectively. Then the order 

of the product matrix BA is …….






(
)

A) 1x2

       B) 2x2
            
  C)  2x1
     D)  1x1

7. One degree = ………………. Radians 





(
)

A) 0.07146
       B)0.07416
               C)0.01746
     D) 0.01476

8. 
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sec65cot25..........
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A) 1 

        B) -1
               C)  0
               
   D) 2 

9. A and B are two matrices of same order such that 
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A) 
[image: image25.wmf]ABBA

¹


        B) 
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            C) AB = 0
   
  D) BA = 0

10.  Out put unit receives the signals from ……





(
)

A) Control unit
        B) A.L.U
                C) Memory Unit 
  D) None
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11. The area of an equilateral triangle whose altitude is 
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cms is …………………..          
12. In the adjoining figure, IF 
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13. 
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 Intersect the y-axis at …………..………………

14. A line 
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 intersect the co-ordinate axes at A and B then the centroid

of 
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 is ……………………………………………………….….

15. 
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tan5.tan25.tan45.tan65.tan85............

=

………………..

16. If 
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 then the matrix A is called ………………………………

17. While solving the linear equations 
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 and
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, using Crammer’s method, 
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B
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………………………….

18. Maximum value of 
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qq
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…………………………….

19. RAM means …………………………………

20. Printer is an example of ………………………..………….. unit .

III) For the following questions under Group-A , choose the correct answers from the master list (Group-B) and write the letter of the correct answer in the brackets provided against each item.


GROUP – A





GROUP – B
21. No.of common tangents for 

two non-intersecting circles 



(
)
A) 0

22. Slope of the line 
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is -2 then p = …




(
)
B) 1

23. The Mode of 2,2,3,5,3,4,3 is….


(
)
C) 2

24. PA and PB are two tangents drawn 

from P  to a circle. If PA=5cms. Then PB=…

(
)
D) 3

25. range of first 8 natural numbers is 


(
)
E) 4

F) 5

G) 6

H) 7

GROUP – A





GROUP – B
26. 
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I) 3

27. if 
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J) 5
28. If 
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K) 
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29. Pictorial form of an algorithm



(
)
L) key board

30. Hard ware
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M) 
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N) 
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O) Flow chart











P) 
[image: image49.wmf]1

sectan

qq

-


BEST OF LUCK
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